MatHeEMATICAL REASONING

6. Haley has 4 marbles. Haley and Donald together have
10 marbles. Donald gave one half of his marbles to Sue.
How many marbles does Sue have?
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7. Morgan had 7 coins this morning. At noon, he spent 4 coins.
In the afternoon, he found 6 more coins in his coal.
Which statement below is true?

@ He has fewer coins now than when he started.
He bhas 6 more coins now than when he started.

© He has the same number of coins now as when he started,
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@ He now has 9 coins.
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8. At the end of each week, Mike receives $10 as an al‘lowance‘

Jodi receives $4 less than Mike, and Jim receives $2 more
than Jodi. What is }Jim's allowance?

@ $8 $10 © $12 © $14
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9. Leia starts with 9 beads. She gives 3 beads to Paul. Then
Leia buys b new beads. Which statement below is true?
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Leia has fewer beads now than when she started.

© Leia has 2 more bheads now than when she started. -

© Leia has 5 more beads now than when she started.

10. Monica lives 3 blocks west of Lisa. Lisa lives 2 blocks west
of the library. Jim lives 4 blocks west of Monica. How many
blocks does Jim live from the hbrary‘?
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0:@ You may use your counters to help you solve problems 6-9.

MULTIPLE GHmcE

@ leia h.as the same number of beads now as when she started.




